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1. Introduction
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2. Experiment

1) Theory
1.1 7I2X AtO[Z(Carnot cycle)
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Fig 1. P-v diagram, T-s diagram for Caront Cycle

2.1.2 W7l AO|Z(Rankine cycle) [2]
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Fig 2. T-s diagram for ideal Rankine cycle  Fig 3. T-s diagram for real Rankine Cycle
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2) Equipment and method
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Boiler Boiler Turbin Turbin Turbin Turbin Voltage | Current

pressure | Temper(out) | Pressure(in) | Pressure(out) | Temper(in) | Temper(out)

110.375 | 176.28 19.753 5.873 126.48 109.86 6V 0.367A

Table 1. Result of Rankine cycler in steady state



P T Y u h S
phase
[kPa] [°C] m*/kg] (kJ/kg] kJ/kg] [kJ/kgK]
Boiler compressed
101.325 20 0.0010 8393 8403 0.2965
Inlet (0) liquid
Boiler superheated
862.37 176.28 0.2261 2585.0 27799 6.655
Exit (1) vapor
Turbine superheated
23753 12648 0.7564 25369 2716.6 7076
Inlet(2) vapor
Turbine compressed
141.82 109.86 0.0011 4310 4312 1.3391
Exit(3) liquid

Table 2. Properties of Rankine cycler in steady state for each component[3]
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Fig 5. T-s diagram for rankine cycler in experiment[4]
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